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307 GI12+0lH 12,435 13,631 A 1,196
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o Matea 50,000 * 8JHA x 12& 4,800
o MIR2 250,000 * 84 = 128 24,000
o RERI 660
- 5 1,750 = 2004 = 12& 420
- YUtH 250 * 80OH = 12& 240
< HzHl > 0
o BAX A, M2 A HALEH]
700,000 * 84 » 3 16,800
< A& &HIRXIHl > 0
o og&Hl S =4 250,000 * 84 * 23| 4,000
= AM&E2 | 50,000 * 844 + 68 2,400
202 OdHl 7,950 7,950 0
01 =LHOHI 7,950 7,950 0
o YEeEAH IIM2As A2
20,000 * 20 = 52 2,000
o B89 JRI=X 20,000 » 11H = 6 1,320
o IEYERAL2E L LS FA
20,000 * 50 1,000
o S22 HOoPte Olsd =
10,000 » 11 » 33 3,630
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